Exercise 2: Chemical Reactions — Balancing Equations
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2Cu + O — 2 CuO

2H,O0 — 2H; + Oy

2Fe + 3HO — FeO3 + 3H;

2 AsCl; + 3H,S —  AsS; + 6HCI

Fe.Oss) + 3Hzg —  2Fe + 3H20¢

CaCOszs — CaOg) + COgyg)

8Fes) + Sss) — 8FES()

H2S (ag) + 2KOH@q) — 2H20¢) + KaoS

2NaClgy — 2Nag + Clyg

2Als) + 3H2SO04ag) —  Ala(SOs)3aq) + 3Hz()
3NHiOH@g) + H3POs@agy —  (NHi)3POs@q + 3H20()
4Alg + 3059 — 2AlOgs

250, + Ozg — 23503

Se) + 802q — 8302

Ceo + COzxy — 2CO)

2KClO3s) — 302q + 2KCl

MnOze + 4HClag — MnClagg + Clag + 2H20)
Fe.O3s) + 3CO — 2Fei + 3CO2 (g

2Fyq) + 2H20() — 4HFg) + Os)

6HClag + Fex0ssy —  2FeClsag + 3H20 g



